


Introduction

This document describes the assembly and use of uStepper Linear Actuator
and related products.

Product: UStepper Linear Actuator M8
Document revision: 1.0

Author: MGN

Approved by: THO

Approval date: November 19th 2019



Bill Of Materials




Bill Of Materials

1 x uStepper Ego Shield S

1 x uStepper S w. motor

1 x Tube 15 mm x 460 mm

1 x M8 lead screw x 470 mm

1 x 40x40 | -type slot 5, 450 mm

]

1 x M8x5 coupler

&

0

2 x F8-16M Bearing

S 4

4 Xx M3 x 6 mm

R 4

3 x M3 x 10 mm

8 x M5 x 20 mm

@

1 x M3 SL nut

[ )
&

4 x M4 SL nut

1 x M8 SL nut
e

2 X M8 nut

4 x 3.5x8 mm screw



Linear Actuator Assembly




Make sure the two M8 nuts sit tight in the plastic
slider when screwed onto the M8 rod




N
\ Optional: Drill 2mm holes in aluminium rod prior

‘\' to inserting screws






-

Use M5 Tap to make thread in the 4 holes at both
ends of the profile






